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irst Question::  (8marks) ,

Ali company produces a product, Th

¢ following information concerning the company :

iiisinseuStatement | Amounts JD Notes
T nio priceOPME prodiict - o -on | AT i chee i e e e o1
| Conteibutionmargin: 2. . ~560000 |40 % the value of salostarget |
The variable per unit ' 90 ‘ ea e LN
‘the amount of the tax_ 1 150000 lthetaxrate25% ..
The fixed cost 7202 R

Required: using a Income equation
1 - Determine the value of sales target?
2 - Determine Number of units sales target?
3 - Determine Profit before tax?
4 - Determine target Profit after tax?

Answer Sheet for Instruction Number ( 1):
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Price per Unit
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(12 marks)

_mpany produces a product with the following data related to this product:

/ statement Notes ¢
Current sales 600000 Units
The sale price of per unit 6 JD
Industrial variable indirect 241D
Industrial fixed indirect 1.2JD
Marketing and administrative variable __ 0.8JD -
0.4JD

Marketing and administrative fixed

Reserve capacity, but not used allow the production of 60000 units, and the presentaﬁon of -

__the company to buy 60000 units at 4 JD, will have to accept this order Exception all fixed

Required:

“Trade-off between accepting or rejecting the order based on

- costs (Industrlal fixed mdlrect “and marketmg and admlmstratlve -COStS: ﬁxed) and- lower
- variable marketing and adm1mstrat1ve by 20%. Will also accept | the order-to-lower.the -
- original sales by 4000 units, The company will sell 60000 unit purchase prlce of 41D

,_d1fferent1a1 ana1y31s :

method.
Answer Sheet for Instruction:
Sell 600000 | Sell' 596000 | Differences Selling 60000 units |
statement Units Units 4600 Units purchase price
Sale_price obeerum? & 300 000 | ABFL000 beoc_v-o 24e oo
2% T ndys brial vavialke sedect] Cl Yo O(’Q\ ( \ 1430 U;O'O) (A€ oo 3 (“’f \looo) .
. T IY\CPUS"V‘I'WI Pixed znaai ( 225 000 G5 2o/ (U800 ) -
iYMooco |Y3o0Yoo Qé oo dbecce /
R narkehia varbbic e (s ) S C 2R uc/o’x
Y £ixed (2 Upogo) | (23 Ry ood C;fm
- o B R1écpe | Biorszs \| /HuUo) 5%/50@
A decision - UGg4ke) (3R W
.......... N.accept the. Trmdeaf . CB 2 O et aaneen
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Third Question:_( 5 marks)

Al- Zarqa Company produces three products A B C, has reached total joint costs at
the split-off- point 20000 JD. The followmg are the rest of the information:

statement A B C Total
Quantity produced at the split-off- point (kg) 2500 4000 6000 12500
joint costs (JD) 7 ? ? 22
Sales value at the split-off-point (JD) 3750 20000 1500 25250
additional manufacturing costs (JD) 7 30000 ? 36500
Sales value after additional manufacturing (JD) 5375 57500 5700 68575




g1 G gt 65 ‘
.aonal manufacturing costs less than joint costs for product A by 1750 JD

.dditional manufactunng costs less than joint costs for product C by 5350 JD
5 750 wa,_)‘ e (NG
Required: select any of the three products must be sold at the split-off- point,
We must be sold after additional manufacturing according to the analysis of
differential.

Answer Sheet for Instruction:

Statement ok A B C J! Total
oty ; S L W2~ 37 Deo : e R i
= Bl A € A
e [ e e

A decision :
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The End
Our wishes by success,,,,
Dr. Jamal Sharairi & Dr. Odeh Bani Ahamad/  Accounting Department
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